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Y aX b Y

X a b
ppb
a b r
411 NO 40.8 35.8 5.0 | 0.985 5.6 0.995 2.7
() | @26 NO2 | 31.9 35.7 -3.8 | 0.903 -0.3 0.982 2.7
NOx | 71.9 70.5 1.4 | 0.964 3.6 0.997 3.8
NO 41.5 37.5 4.0 | 1.002 3.9 0.998 3.0
333 NO2 | 36.4 40.7 -4.3 | 0.881 0.5 0.994 3.0
NOx | 77.9 78.3 -0.4 | 0.970 2.0 0.998 4.8
NO 108.8 | 101.7 | 7.1 | 1.038 3.2 0.999 3.3
384 NO2 | 34.9 37.6 -2.7 | 0.888 15 0.936 3.3
NOx | 143.7 | 139.3 | 4.4 | 1.026 0.8 1.000 4.5
NO 48.6 46.5 2.1 | 1.079 -1.6 0.999 3.7
354 NO2 | 31.6 33.5 -1.9 | 1.000 2.0 0.985 3.0
NOx | 80.1 80.0 0.1 1.062 -4.9 1.000 4.5
NO 50.3 44.8 55 1.075 2.1 0.996 2.8
843 NO2 | 32.1 35.1 -3.0 | 0.782 4.7 0.927 2.8
NOx | 82.5 79.9 2.6 | 1.015 2.4 0.998 4.3
NO 30.7 25.9 4.8 | 1.108 2.1 0.995 2.3
368 NO2 22.7 25.1 -2.4 | 0.806 2.5 0.971 3.3
NOx | 53.4 51.0 2.4 | 1.035 0.6 0.999 4.0
NO 32.9 325 0.4 | 1.026 -0.5 0.999 4.7
453 NO2 | 23.8 26.4 -2.6 | 0.892 0.2 0.991 3.3
NOx | 56.7 58.9 -2.2 | 0.988 -1.6 0.999 4.3
NO 38.1 38.8 -0.7 | 1.022 -1.6 0.991 3.3
446 NO2 28.7 30.4 -1.7 | 0.992 -1.5 0.975 3.0
NOx | 66.7 69.2 -2.5 | 1.019 -3.8 0.994 3.8
NO 68.5 73.4 -4.9 | 0.990 -4.2 0.995 3.0
356 NO:2 | 36.0 37.5 -1.5 | 0.989 -1.1 0.952 3.0
NOx | 104.4 | 110.9 -6.5 | 0.990 -5.3 0.997 3.0
) No,
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